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yýöOëÿ_Û÷�W 

îÜÿ~ÿoÿå 

oÛ÷�W�1Tÿ÷{Ý_w�<yýöOëÿ_ �×~k_} 

ÿþûõ²ûÿ=õ±´ûxq{1ëÿ_�×1Û÷²Û±»²~wy2 

 

ÿÿ ëÿ_w_Ñ·Ï 

ÿÿÿm�}tÑ~¿ÿÿ}tÑkow~w~m¼ 

ïëÿ_þë~m�}tÑ{ttv 

ï~ÿo~<m�~å=~w{1Ýÿÿî 77 oÿ1�ÿÿî 88 oÿ1 

�ÿÿî 99 oÿ²Ïx�_õ^�{}tÑÿ5,000 ×ÿ²�º~y2 

ÿs¼�1åî^{¹}�Ýõ²�xv1kou¼»²~x�uzº1 

ëÿ_|þë{Ìv}tÑwy2 

ïÿí�~¿ÿ{ttv 

ëÿ_~�_ÿyøx÷Ìø|WÛwvÿí�~¿ÿ²Ìt1}~¿ÿ 

}ÿ�<ÿí�ú¹ø=xwv_rw~y2¿ÿ�1Þ¯w 8 ooí~w 

{ßýwÿo~ÛÏ�õ_w1ÿí�|t»ÿ÷x1m�}tÑ~ÿí� 

{kow²zØtw~y2 

ïm�}tÑ~kowýý{ttv 

m�}tÑ~þÙ�1ÿo~ÛÏ�õ~w{_�ç_|Ìt~y2 

ÿ÷~��}÷�1ÿí�~_õ^�x<m�~å=ÿOÿýz|\� 

Õ�x²ÿooÿ~w{öçkowvOut2}~�1ÿí�{¹¿ÿ 

y{×�sÿµ´ó²ÿÿ²²¹svOut2~�ú_ÿ÷�_�ç_| 

~Ìy»ëÿ_rv~�ßþ{××º~µ´ó²ÌsvOut2 

 

ÿÿÿ_õ^�{¹~�y³}x~ÿß 

ï�y{ÿy»ëÿ_�y{ttv 

ëÿ__õwwß{zO~t~ý|ï�z¹¼�|\�1ëÿ_{¹ 

�yÿNß 5,000 ×ÿ²zoww~y2ú_y»ÿ÷�}÷x³}w1 

}÷{¹_�x<7}7ÿ~ïïù|ï�zº~w�=xtv³}² 

ÌsvOut2�y²×q×s�}÷�1_�ç_|~Ìy»ëÿ_ 

rv~�ßþ{××º~µ´ó²ÌsvOut2 

ÿëÿ_{¹~�y~zowf��1z�]´^w_x�w{ßåÌv 

²~xw~y2 

ï<�y~z÷¹{=~Þ¯{ttv 

ï�z¹¼�ý~_õ^�x1}~ÿ~ÿ÷~��}÷|ª_1vt� 

ÿû{w<�y~z÷¹{=~Þ¯ÿv²z_}wvOut2y}yÿ 

{Þ¯|ß�xzs�|\�1Þ¯}~<�y~z÷¹{=²_rw1 

�_÷xóûwv1Þ¯²ß¼wvOut2Ow1\ÿÕ~�1~�� 

\}Õ~�~Þ¯xzs�|\�1}¼~¼ÿ÷1~��}÷|_rÿ 

Þ¯²ÌsvOut2 



2 

 

 

ÿÿ T~åy~³}ýý 

ÿÿÿ¶ÿ�~Üï 

ïÜï~ß¼ 

³}²×q�_ú¶ÿ�w{~ÿ÷�1¶ÿ��÷²ú�w1mwÿ� 

ÿ22-73561090-3687-6310ÿ{Üï²ß¼wvOut2 

}~��uw�<¶ÿ�Üïß¼y=�¶}¶ÿø÷{óûwvOut2 

ÿ¶ÿ��÷|¿{¹ztf�1}~¶ÿ�|¯�u¼vt»Ob´1ÿ÷  

 {¼¹¼vt»_¹{~åy{w²ët~{³~w1z÷¹{Out2 

 

ÿÿÿ_õ~u× 

ï_õ~uû�_åy²ß�_úÿ÷�<_õ~u×^q=~}}{�uw1 

_�ç_{³}wvOut2 

ÿu_~|\1u_�~åy²�uw�<_õ~u×^q={ëÿ_¿² 

ÿxv_�{óûwvOut2 

     ³~þ�ow~u_f~ëÿ_¿�1<ÿÿÿÿ~ëÿ_¿~ÖÑ=² 

      ÓwwvOut2 

ÿ�_~|\1ëÿ__¿~ßÑ�z�1}~ß~Þ¯�Ìt~{³2 

Ow1ßy~Ý_^�|rs�x}�1}~Ï²<_õ~u×^q=w 

z÷¹{Out2^1<_õ~u×^q=�öç_÷xóûwvOut2 

ï_÷�<_õ~u×^q={ßt1<ëÿ_]�=²ïk1öõy»2 

 

 ÿÿÿOý÷ì{~´ÿ÷v 

   ï_úw{~ÿ÷{¹åî^~ôÛÏmøÿ84-0838ÿ{³}w1ëÿ_ 

    xwväû²ß¼wvOut2 

   7Ïþt�wûu¼�²~|1Þßu¼z{s�|\�ÿ±�{yù[² 

    �v1}~ß²��u¼vt�¹Oý÷ì~´ÿx\xÿß²Ìsv 

    Out2 

 

ÿÿ T~ßy}~Ý_ýý 

ÿÿÿëÿ_{¹~�õ_y^1z÷¹{zy 

ïÞ¯{�1ß�øu²³ôüw1�_÷{¹T}÷}uwTÿ÷xzØt 

w~y2}~�1Þ¯�{Þ¯~�ß²{y}}²¼º1óûüû�{ 

u¼vÞ¯wvOut2 

ÿÞ¯�´1Þ¯�²u¼»óûüû�|O¿w�|\�1÷Ìø~w 

 z÷¹{Out2 

ïy_õÝ_~|\²1ß�øu²³ôüw�_÷{¹\Nûüøw 

Ý_~��1T_õß~ý¹ø{xý¹ö³ó°²ÌsvOut2 

 

ÿÿÿßy<uxu¿= 

ïïÞ}÷Û{ß�øu|^{¹�Þu¼~y~w1}÷{¹Tÿ÷xb� 
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øu²Ý_wvOut2ÿ÷�ÿÕ~_õßxß_õß{Ý_²zØtw 

~y2 

ÿßyÝ_{o÷|ß�z|\�1<ßyÝ_o÷ý���={ßt1 

o÷�Ë²ÌsvOut2 

ïßyø÷�ßy<uxu¿=~Ý_øu²NSö{ûvw1Ý_øu{ 

Yö|r»|\�1_ú}÷{¹³}²×qvßyø÷|åî^ßyº{ 

³}wvOut2 

ÿëÿ__÷|ßûy»<ëÿ_]�=x~w\|ß�z~w1Yö| 

~�w�|\�1^x³}y»_{_÷x~¿u²ÌsvOut2 

   ïßy<uxu¿=�åî^{¹Ý�{¸º1ëÿ_xwvwßÕ{ 

O°y^�ÿß_õ²�±ÿx~Ý_{WÛwvt~y1 

 

ÿÿÿTø_�×{·³y»Þ¯ûÝ_{ 

ïTø~Wû_{{û�w��{Ý_u¼vÞ¯²ß¼u¼�V�1ÛÏ 

�õ_~f{1ß�zÞ¯øu²þÙw1Tÿ÷xÞ¯²ß¼wvOut2 

ïN�1Wû_{vû�w��~_ûÏý{~Ý_{�1Tø{vßûw1 

}~f~Wû_{¹~³}Ï��1ÛÏ�õ_~f{y^wvOut2 

 

ÿÿÿëÿ_þë1~��åî^2Ûswý}}¹{¹~Þ¯ûÝ_{ 

ïß�øu²�_÷}u1~��T}÷}uwÿ÷xÝ_w~y~w1 

T_õ^�x~Þ¯ûÝ_²zØtw~y2 

 

ÿÿ ëÿ_¿~ÖÑxëÿ_õ]�~_r 

ÿÿÿëÿ_¿{ttv 

ïN®Oßÿ«ï{¸» 2 ^�Oß²�°ÿ~ëÿ_¿�1�r 28 ~ 3 o~ 

Û�ÿ_{¸º1~Ý 2,400 ×wy2 

ïq\Oß~ëÿ_¿� zu×~_¿ 2,400 ××50%xy»2 

ïþó·÷ó~ëÿ_¿� zu×~_¿ 2,400 ××70%xy»2 

 

 ÿÿÿëÿ_¿~ÖÑ 

   ïN®Oß~ëÿ_¿�1Tÿ÷|zwª_{¸ºëÿ_¿²ÖÑw1 

    bÛ~�ßþ²kowvOut2 

   ïq\Oß~ëÿ_¿�1_÷ÿNø1_�1~��ÿ÷~|\rºÿ| 

q\Oß~}÷�ÿºüúüÿÛ�}~q\Oß~ûv_�xËnw~y2 

Ow1o¿{¸»kuý¬ç�wvt~{³2 

   ïþó·÷ó~ëÿ_¿�1_÷ÿNø1_�~WÛrºÿ|ûv_� 

ÿ~��ûv}\ÿx¿uw1Ënw~y2 

    Ow1o¿{¸»kuý¬ç�wvt~{³2 

    ÿq\Oßxþó·÷ó~{Vq�1{Vbou¼ûv_�{²oy» 

     þ{²þó·÷óxw1}¼ï_~Ï¼þ{²q\Oßxw~y2 

     Ow1{Vq|÷wt|\�1}~ýþ¿uw~y2 
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   ïëÿ_¿~ÿß� 4 o~� 1 ÞÛÏ�õ_{v1ßý²zØtw~y2 

   ïîu{¸»õ_õ~ëÿ_¿�õ~þVxwv1 

    N®Oß� îuw�o~ÿo{¹_�V~wor{¸»ÑÝxw~y2 

    q\OßÛsþó·÷ó�u]�Ûo{¹_�V~worw�ÿw~y2 

   ïÿßw�ëÿ_¿�1îû|�xv²ßÑwvt~{³2¸svÖÑ~�{ 

    _�ÿ4 oÿÿ 3 oÿÕ{îû|~~svt»|\�1îûÎÛo~w~ 

    V²�ÿw1ÿßwvOut2ÿoÝ 200 ××ouÿ 

   ïëÿ_~ÖÑ{�w1ß�zx}�_�õ{ú�1ÛsWÛ{²þÏwv 

Out2 

      

 ÿÿÿõ~þ~ëÿ_]�~_r 

   ïëÿ_¿~ÖÑf1Tÿ÷�<_õ�u}}={�u²ß¼w1T}÷ 

    |×ºÿ±_÷xóûwvOut2s¼²ÿ{_÷�õ~þ~ëÿ_õ 

]�²ïk1öõw~y2 

 

ÿÿ ëÿ_~õ~þ~�õÿÿ÷ÿ~øû{ttv 

7ÿo~ÛÏ�õ_~x}{1<k~þ~�õýüöü·÷óè=²1 

Tÿ÷{Ý_w~y~w1Tÿw�k~þ~ÿ÷~øû²zØtw~y2 

   7<õ�õ�u}}={ß�Ï�²�uw1ÿo~ÛÏ�õ_~x}{ 

óû²zØtw~y2 

   7ÿo~ÛÏ�õ_ß{1<õç�õ~Ü\{=~�_²¯q~y~w1 

    {{k~þ~õwt�õ{�1<û�=²zØtwvOut2 

   7k~þ~�õøû�1Tÿ~Ïå{¸º��v{w~±vOut2Ow1 

    tÚÿ{w�õ|w}ztx~_Ü|~�w�|\�1Yz�Tÿw 

��²Yöy»{~ÿß²zØtw~y2 

    }~sx|vuw1<�_=xz¹zt¸v1Ýo²zØtw~y2 

    |\{¸sv�1_÷{þÏwvOut2 

 

j}�}�k 

_z s~Û÷�W��r 20 ~ 4 o 1 å{¹ýÌy»2 

ÿz <ÿÿëÿ_¿~ÖÑxëÿ_õ]�~_r=~}k 

    s~Û÷�W��r 26 ~ 10 o 1 å{¹ýÌy»2 

ÿz <ÿÿ{ztv1ëÿ_¿² 2,400 ×={}k 

    s~Û÷�W��r 28 ~ 4 o 1 å{¹ýÌy»2  

ÿz ÿ÷Ý_~<�×~k_}ÿþûõ²ûÿ=x~è�N~ 

   u\²xº1y÷�öw2 

   ~�<ÿÿ�Wëÿ_~õ~þ~�õÿÿ÷ÿ~øû{ 

ttv<²ÿò 

s~Û÷�W�îÜÿ~ 4 o 1 å{¹ýÌy»2 

 


